BEAD GEXEF - BTT )

Lf5%F6A |1 8
b 1 X % H# F O A | 5 7T

B 7 B o X 6,712 13,237 6,914 6,323

X B # K 1,185 2,859 1,402 1,457

£ P 1 K 55 | 1,415 711 704

N RO K 986 2,622 1,332 1,290

Bl %&£ # K 7,01 | 14,929 7,29 | 7,638

Nn |’ R # X 1,302 3,130 1,527 1,603

ik x M # K 1,048 2,466 1,221 1,245

it & & # K 7,892 18,57 8,885 9,686

BE o M o X 6,414 16,083 8,054 8,029

& 5 33,101 75,312 37,337 37,975
2f5F6A 18

W X 4 B T % #H F A ] 8 %z

BE 7 U X BETEIATA 4,494 9,185 4,621 4,564
¥ P 178 330 181 | 49

® g 424 839 436 403

£ L o H 739 1,317 827 490

g R H 310 527 284 243

% BT 567 1,039 565 474

o ORX 3 6,712 13,237 6,914 6,323

N E # X = B 86 207 103 104
X & 820 1,964 963 1,001

g % 143 355 172 183

+ K 18 #r 8 136 333 | 64 169

A - S 1,185 2,859 1,402 1,457

k P # K ® B H 139 354 183 171
& fF 16 37 15 22

¥ @\ H |25 395 188 207

& & H a5 221 105 16

R HT 109 253 1 40 113

K & 67 155 80 75

e K 3 55 | 1,415 711 704

N R O X N R H] | 80 41 | 209 202
BN R H 142 387 196 191

7 PR HT 35 83 39 44

B R ¥ 462 1,310 673 637

g B 67 1 80 87 q3

2 1] 100 251 128 123

o K 3 986 2,622 1,332 1,290
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BEAD GBXF - BT T35

Lf5%F6A |1 8
*r R % Bq T 4% HF B | A = B -8
Bl % i X Bl K 637 1,531 741 790
F9 & %7 B 8T | 2 2 0
A i HT 165 412 198 214
m v B 731 1,64 797 844
& % 6 q47 2,186 1,013 1,173
Bl % qq 390 153 237
= & 1,928 3,935 1,972 1,963
EZEE | TB 243 433 224 209
B 2TB8B 440 872 4217 445
8 3 T8 487 801 400 401
8 4 TB 736 1,384 703 68|
MW I 28 16 12
NGB OFE S HT 428 g2 45| 46|
JE £ 18 %7 & BT 15 41 |7 24
N g HT 143 361 |77 | 84
o X 7,01 | 14,929 7,29 | 7,638
IR K3t B R AR ET 1,302 3,130 1,527 1,603
#H K3 1,302 3,130 1,527 1,603
it XX R i X & ¢ € 72 225 118 107
& b ¥ @ E] 64 155 75 80
A Bk OE T 107 256 123 133
g @\ 62 | 46 74 72
it # H 73 196 q7 qq
N OB 31 85 44 4|
& ‘A 67 182 93 89
X B 6 16 7 q
e | TH g3 190 102 88
EmNE2TAH q0 205 a5 110
ENaE3TAH 106 207 100 107
e 4 TH 135 306 |47 |59
maAES5TH 55 118 57 61
a6 TH 87 179 89 q0
A - G- 1,048 2,466 1,221 1,245
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EEAD (X3 - BTT 5)
Lf5%F6A |1 8
H B % Bq T 4% #H R A = B -8
LtES®RE | EWw I TH | 84 40| 192 209
£EWL2TBH 195 453 211 242
£WL3TBH 176 393 202 191
£ 4 TBH 328 851 371 480
£WL5TAH 273 613 289 324
fFWL6TRH 286 682 346 336
£WL 7 T8 233 579 282 297
£ L 8 TH 275 608 305 303
WmEITB 436 929 429 500
WmwWE2TB 130 334 162 172
W¥E3ITBHE 233 519 266 253
WwWE 4 TB 153 359 172 187
WES5TEBE 249 574 275 299
WwW¥E6TRBH 265 616 284 332
NS T B 28 62 31 31
N2 T B 351 909 45| 458
N3 T B | 84 409 210 199
NS4 T B 569 1,186 536 650
&1 TH 203 479 236 243
& 2T7TEH 231 573 274 299
T &3TH 137 327 172 155
& 4T7TH 265 685 327 358
T &5TEH 197 449 198 25|
BARE | TH 196 492 240 252
BRE2TH 206 572 275 297
vHRE3ITHE 72 195 q4 101
BARE4TH 201 45| 214 237
BHRESTH 289 764 354 410
Afk& | TH 162 405 202 203
A& 2TH 169 41 | 206 205
A& 3TH 344 806 396 410
AfR&4TH 672 1,485 683 802
# X E 7,892 18,57 8,885 9,686
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BEAD GBXF - BT T35

Lf5%F6A |1 8
H B % Bq T 4% #H R A = B -8
Ry MR | @yl TH 166 787 528 259
BT E2TH 163 414 209 205
By aE3TH 201 473 24 | 232
o BE4TH 282 757 364 393
BT ES5TH 345 84 | 389 452
By R 6TH 325 q15 463 452
By ETTBE 420 1,131 581 550
W/ NI TE 284 712 332 380
W/ N2TH 231 572 275 297
W/ N3TH 370 980 47| 509
W/ N4TH 300 779 378 401
W/ N5TH 282 720 360 360
wr e TH 531 1,135 569 566
WrE2TH 45| 992 487 505
wrE3TH 356 1,011 511 500
WwWrE4TH 320 54| 272 269
BRI TE 277 717 364 353
BR2TE 454 1,043 526 517
BR3TAH 305 750 378 372
BR 4 TEBE 333 62| 296 325
wE | TH | 145 37 108
v B 3 TH |7 47 23 24
#H K3 6,414 16,083 8,054 8,029
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